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SIMULATION STEP 5
b_elem : 0 00000
aelem : 3311000000
b_init : 00000 0
a_init : 0011000000
b_len : 444444
a_len : 21144444414
X :3230000032
m :1010101010
SIMULATION STEP 6
b_elem : 0 000 0
aelem : 3331100000
b_init : 0000 0
a_init : 0001100000
b_.len : 55555
alen : 3211555555
X :3333000332
m :0101010101
SIMULATION STEP 7 » t = MAX+t_off = 5+2: a{@} and b{0} of first computation match
b_elem : 9 0 0 @
aelem : 3333110000
b_init : 00 0 0
a_init : 0000110000
b_.len : 6666
alen : 4321166666
X :4343404332
m :1010101010
SIMULATION STEP 8
b_elem : 0 0 @
aelem : 4333311000
b_init : 00 0
a_init : 0000011000
b_len : 777
a_len : 5432117777
X :4444414333
m :0101010101
SIMULATION STEP 9 » t = 2*MIN-1+t_off = 2*4-1+2: last element of a entered array
b_elem : 0 0
aelem : 44333311080
b_init : 0 @
a_init : 0000001100
b_len : 8 8
alen : 6543211888
X : 5454212343
m :1010101010



SIMULATION STEP 10

b_elem : @
aelem : 4433331180
b_init : @
a_init : 00000001180
b_len : 9
alen : 7654321199
X : 5553222344
m :0101010101

SIMULATION STEP 11 » t = 2*MAX-1+t_off = 2*5-1+2: last element of b entered array

b_elem :

aelem : 044333311
b_init :

a_init : 9000000011
b_len

a_len 87654321110
X : 5543322344
m :1010101010

SIMULATION STEP 12 » t = 2*MAX+t_off = t_off' first elements of next comp. entered

b_elem : 3
aelem : 1004433331
b_init : 1
a_init : 1000000001
b_len 9
a_len 9876543211
X : 5544322345
m :0101010101
SIMULATION STEP 13
b_elem : 33
aelem : 1100443333
b_init : 11
a_init : 1100000000
b_len 91
a_len 1987654321
X :1544323345
m :1010101010
SIMULATION STEP 14
b_elem : 332
aelem : 2110044333
b_init : 110
a_init : 9110000000
b_len 911
a_len 1198765432
X :1244323442
m :0101010101



SIMULATION STEP 15 » t = 2*MAX+MIN-1+t_off = 2*5+4-1+2: result of first computation

b_elem : 3322
aelem : 221106044533
b_init : 1100
a_init : 0011000000
b_len 9112
a_len 2119876543
X :2234323432
m :1010101010
SIMULATION STEP 16
b_elem : 3445533223
aelem : 3221100443
b_.init : 0000011000
a_init : 0001100000
b_.len : 4567891123
alen : 3211987654
X :2334333433
m :0101010101

SIMULATION STEP 17 » t = MAX+t_off': a{@} and b{0} of snd. Computation match

b_elem : 4455

aelem : 3322110044
b_init : 00 0 0

a_init : 0000110000
b_.len : 56738

alen :43211987635
X :2344535443
m :1010101010

SIMULATION STEP 18

b_elem : 455

aelem : 4332211004
b_init : 00 0

a_init : 0000011000
b_.len : 6738

alen : 5432119876
X 12345515544
m :0101010101

SIMULATION STEP 19 » t = 2*MIN-1+t_off': last element of a entered array

b_elem : 55
aelem : 4433221100
b_init : 0 @
a_init : 0000001100
b_len : 7 8
a_len : 6543211987
X :2345212554
m :1010101010



SIMULATION STEP 20

b_elem : 5
aelem : 04433221180
b_init : @
a_init : 00000001180
b_len : 8
alen : 7654321198
X 12343212355
m :0101010101

SIMULATION STEP 21 » t = 2*MAX-1+t_off': last element of b entered array

b_elem :

aelem : 0044332211
b_init :

a_init : 9000000011
b_len

a_len 8765432119
X : 3343212345
m :1010101010

SIMULATION STEP 22 » t = 2*MAX+t_off' first elements of next comp. entered

b_elem : 3
aelem : 1004433221
b_init : 1
a_init : 1000000001
b_len 9
a_len 9876543211
X : 3543212345
m :0101010101
SIMULATION STEP 23
b_elem : 33
aelem : 1100443322
b_init : 11
a_init : 1100000000
b_len 91
a_len 1987654321
X :1543212345
m :1010101010
SIMULATION STEP 24
b_elem : 335
aelem : 3110044332
b_init : 110
a_init : 9110000000
b_len 911
a_len 1198765432
X :1243212342
m :0101010101



SIMULATION STEP

25 » t = 2*MAX4+MIN-1+t_off' : result of second computation

b_elem : 3355
aelem : 3311004433
b_init : 1100
a_init : 0011000000
b_len 9112
a_len 2119876543
X :2233212332
m :1010101010
SIMULATION STEP 26
b_elem : 3445533555
aelem : 2331100443
b_.init : 0000011000
a_init : 0001100000
b_.len : 4567891123
alen : 3211987654
X :2234222433
m :0101010101
SIMULATION STEP 27 » t = MAX+t_off'': a{@} and b{@} of third computation match

b_elem : 4455

aelem : 2233110044
b_init : 00 0 0

a_init : 0000110000
b_.len : 56738

alen :43211987635
X 13234525443
m :1010101010




